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SOLUCIONES DE PERÍMETRO DE UN POLÍGONO IRREGULAR 

 
1. Calcula los siguientes perímetros de polígonos irregulares: 
 
                  3cm  
 

      

   7cm                                         7cm              P= 7+3+7+6 = 23cm 

 

 

                      6cm  

 

                             7cm                 1cm 

 

4cm                                              3cm     P= 4+7+1+3+8= 23cm 

 

                          8cm 

 

  

 

                                                                    P= 2.7 + 3.4 + 2.9 + 2.4 + 3 + 2.1 = 16.5cm 


